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1 Simulation Details

We obtain the Sobol” decomposition of the function
1\2
f(x) = 10sin(27rx129) + 20 (arg — 2> + 1024 + 55 (1)

using the the approach where we treat z; as another input (augmentation approach) and where

we get other sensitivity indices as a function of x; (functional approach).

1.1 Augmentation Approach

The overall mean is given by
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where

The main effects are given by
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and the interaction effect is given by
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Then the overall variance is given by

Var(rx)) = | L / ()
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where the underbraces give the quantity after integration and
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The variances for the main effects are given by

Var(fi(z1)) = / £2 ()
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The variance for the interaction is given by
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1.2 Functional Approach

As a function of x1, the main effects are
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Then the variance functions are
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